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2 2o AB E A 522
A, B, C oA A= Aot

She 2 93 % 90, 0, 7} Al A
Atk ¥ 0y 9 HHAEol a, ¥ Oy 9
w1 B0l b o W), AT H0] HolE a St b & AHgstol ek 2
NOANG B
O
© 7 (342 + 3b* + 8ab) @ 8rab
@271{1!) @ nab
®n (2a2 +2b% + 8ab)

0; 9 HAE2a, 0, O FIAE2po|B2 Z Y] §HA]
a+ b oJth

=

= O
wreta] A BBl Yol = (a+b)%r—a’n—b*m = 2abn ©|T.




3. 2(x+2°+(x+2)Bx-1) - (3x-1)* = —(ax + b)(cx + d) & ],
ab + cd ©] & F3H? (H a, ¢ = FF)

@-1 @3 ® 0 @ 2 ® -2

~&B

x+2=A, 3x—1=BE *|&olH
2A2 +AB-B?>= (2A-B)(A+B)
=(2x+4-3x+1)(x+2+3x-1)
—(x—=5)(4x+1)
cab+cd=1x(=5)+4x1=-1




2a - b)® - (2a + b)?
=(2a-b+2a+b)(2a—b—2a-b)
= da x (—2b)

= —8ab




22 — 62 + 102 — 142 + 182 — 222 + 262 — 302 & AAtotol=},
k"
H =

[ 2
> ®eh: 512

N
)
Il

(2-6)(2+6)+ (10— 14)(10 + 14)

+ (18 — 22)(18 + 22)

-+ (26 — 30)(26 + 30)
—4(2+6+ 10+ 14 + 18 + 22 + 26 + 30)
—4x4x32

= —-512




6. (x+1)*-5(x+1)+6 = A5Eelfsha?

@) (x-1)(x-2) @ (x+1)(x+2)
@ (x-1)(x+2) @ (x+1)(x-2)
® -(x-1)(x+2)

~&B

x+1=12 *|2stH

?—5t+6 )( 3)
-2)(x+1-3)
x= 1)( 2)

><

(t-
(x+
(




x—y=A 2 A%}ty
(x-y)(x—y+6)+9=A(A+6)+9
=A%+ 6A+9
= (A+3)?
= (x-y+3)*




8.

(x+1)(x+2)(x+3)(x +4) -8 & AESH5HH?

@ (x? —5x+8)(x? 4+ 5x—2)
@ (x* +5x-8)(x* -5x +2)
® (2% 4 5x+4)(x* + 5x + 2)
@(x2+5x+8)(x +5x+2)
)(x?

® (x® +5x+8)(x® +5x-1)

B

(x+D(x+4)(x+2)(x+3) -8
= (x® 4+ 5x 4 4)(x% + 5x + 6) — 8 oA
x? +5x = A 2} 54,
A2 +10A +16 = (A +8)(A +2)
= (x2 4+ 5x + 8)(x* + 5x + 2)




9.

Al xy 4+ bx —ay —ab

D (x—a)(y-b)

@ (x+a)(y+b)

[e)

= AgEofstd?

@) (x-a)y+b)
® (x-b)(y-a)

® (x+a)(y-b)




10. x> +3xy—x-6y-2 & QA5ES oFH (x - 2)(ax + by + ¢) ©|th
a+b+c 9 3= otofet.

x* + 3xy — x — 6y — 25 xof ¥l F2JstH

4+ @By-1Dx-23y+1) = (x-2)(x+3y+1)
ca=1,b=3c=1

“a+b+c=5




11. x®+5xy+2x -5y -3 2 A-E3|5HH?

@© (x4 1)(x+5y+3)
® (x=1)(x+5y-3)

® (x+1)(x-5y-3)

@) (x-1)(x+5y+3)

x? 4+ 5xy+2x—5y—3
= x* + (5y + 2)x — (5y + 3)
= (x+5y+3)(x-1)




12. x®-2xy+)? - b5x+5y +4 & A5EolctH?

@ (x-y-2)(x-y-1) @ (x-y+4)(x—y+1)
® (x+y+4)(x+y+1) @ (x+y-4)(x+y-1)

® (x-y-4)(x-2y-1)

x2—2xy+y?>-5x+5y+4
=(x-y)?-5(x-y)+4
=@x-y-4)(x-y-1)




13. % +2xy+y® - b5x -5y & EsistH?

@ (x+y)(x+y-5) @ (x+y)(x+y-10)
® (x=y)(x+y-5) @ (x-y)(x-y-5)

® (x+y)(x—y+10)

‘ (x+y)?-5(x+y) = (x+y)(x+y-5)




14. o+ 2ab+ b —a-bS QSR 52

® (a+b)a+b+1) @ (a-b)la+b-1)
® (a-b)a-b-2) @@+ n)a+b-1)
® (a+b)(a+b-2)

‘ (a+b)?-(a+b)=(a+b)at+b-1)




O (x+3y-1)(x=3y+1) @ (x+3y+1)(x-3y-1)
(@)(x—l—3y—1)(x—3y—1) @ (x+3y-1)(x+3y-1)
® (x+3y+1)(x-3y-1)

(&4 = {(x-1)+3y} {(x-1) -3y}
=(x+3y-1)(x—-3y-1)




16.

x? = 9y? —2x + 18y — 8% QI+

@ (x=3y+2)(x+3y+4)
® (x+3y+2)(x+3y—4)

® (x=3y+4)(x+3y-2)

Fasfsha?

@ (-3 +2)(r+ 3y~ 1)
@ (x=5y+2)(x+3y—4)

~&B

x%-9y? —2x+ 18y -8
=x2-2x-9y>+18y-38
=x? - 2x - (9y? - 18y + 8)
=x%-2x-(3y-2)(3y—4)

=(x-3y+2)(x+3y—4)

={x-@By-2)} {x+(By-

4)}




17, 6=y —x+5y-6=A(x+y-3) & o, A 5 o7

O x+y+2 @ 3x-y+2 ® x-y+4
(@)x—y—i—Q ® x-3y+2

~&B

22—y —x+5y—6
=x*—x— (> -5y +6)
=x?—x-(y-3)(y-2)
={x+0-3)}{x-0-2)}
=@ +y-3)(x-y+2)
LA=x-y+2




¥ -y +8x+4y+12

@ (x+y+3)(x-y+4)
® (x+y+2)(x+y+6)
@(x+y+2)(x—y+6)

@ (x+y+4)(x-y+3)

@ (x+y-2)(x-y-6)

¥+ 8x- (2 -4y-12)
=x*+8x—(y+2)(y-6)
=x+y+2)(x-y+6)




19. 2 oy gre Aueiu
25 x17-17%x 12

O 12 @ 9 ® 6 @)3

(28 +11)(28 —11)  39x 17
(25-12)x 17  13x17




20. -0 4+ Gxc = & QAHRAFATI (ay - 3x+z)(y+bx+cz)
a

7b = At ofu, A4

D1 @ 2 3)3 @ -1 ® -2

B

-9x% + y% + 6xz — 22

=y% - (9x? — 6xz + 2?)
=y% - (3x—z)?

= [~ (Br-2)} {r+ Bx-2)
=@-3x+2)(y+3x-2)
a=1,b=3,c=-1
La+b+c=3




21. o5 T -y - w4y O AeE?

@x—l @x+1 Oy+1 @ x+y

x2y? —x%y —xy® + xy = xy(xy —x—y+1)
=xy{x(y-1)-(y-1)}
=xy(x-1)(y-1)




22, (x+y+2)?2-(x-y-2)2E& As-EdlctH?

@ 2x(y +2) @ 4x(y-2) ® x(3y+2)
(@)4x(y +2) ® 4y(x+2)

~&B

x+y+2=A, x—y-2=Bz=5IH
A?-B*>=(A+B)(A-B)
=x+y+2+x-y-2)(x+y+2-x+y+2)
= 2x(2y + 4) = 4x(y + 2)




@ (x-5y)(x-y) @ (x4 2y)(x—-2y)
® (x-5y)(x+y) @ (x+3y)(x+2y)
@ (x+5)(x+)

~&B

(x+3y)? - 4% = (x +3y)> - (2y)* | B2
x+3y=A, 2y=BetoH
A2—B2 = (A+B)(A-B)

= (x+ 3y +2y)(x + 3y - 2y)

= (x+5y)(x+)




24, (2x+1)2-(x-2) = Bx+a)(x+b) ¥ W, a+3b2] Zt=S FoFH?

® 4 @ 6 @7  @s ® 9

B

2x+1=A, x—2=B= X|35}H
(2x+1)%2 - (x-2)2
=A?>-B>=(A+B)(A-B)
=(2x+14+x-2)2x+1-x+2)
=@Bx-1)(x+3)
La=-1,b=3
Soa+3=-149=38




25. 2x%+5x-12 = (2x+a)(x+b) & WES =0, b o 5t 22 + (a+

b)x+ab & A2 & A2?

@© (x-3)(x—4) @ (x+3)(x+4) ® (x-6)(x+2)
@@-3)(x+0)  © (x-2)(x+6)

2x% +5x-12=(2x-3)(x +4)
La=-3, b=4
x4+ (a+b)xt+ab=x*+x-12=(x+4)(x-3)




26.

xof Tt o] ZFA] k2 fax+4 2 FAFTx+1 L W, 9] F2?

D1 @ 2 ® 3

@ 4

@

T2 A5 x+ A 2 5,
(x+1)(x+A) =x*>+A+1)x+A
=x>+ax+4
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27. 9e T (x-3) & A= A g 427

D 222 -7x+3 @ 2x>2-5x-3 @ 5x2-16x+3
@2)62—5)6—1—2 ® -2x2+9x-9

~&B

@ 2x% - Tx+3=(2x-1)(x-3)

@ 2x* -5x-3=(x-3)(2x+ 1)

® 5x% = 16x +3 = (5x— 1)(x - 3)

@ 2x2-5x+2=(2x-1)(x-2)

® —2x% +9x -9 = (x—3)(-2x + 3)

A (x - 3) 2 A= 2A] e A2 @ o]t
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® 2x+2y-3

@ x+y-1

@ o
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29.

AAE o] Wol7t (a+b)(a+b+1)-30 ©]L, 7k 6] ZO)7} (a+b-5)
d of, o] AAF o] A= o] Aol & oY

® a+b+2 @ a-b+6 ®at+b-6
@a+b+6 ® a-b+5
atb=Az 54

A(A+1)-30 =A2+A-30

— (A+6)(A-5)
= (a+b+6)(atb-5)

w2tA] A 22] Aol a+ b+ 6 ©|th
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(1)a® +8a+A=(a+4)?
(2) x>+ Bx+9 = (x+ C)?

@16, 6, 3 @ 8,6,3 ® 16, 3, 6
@ 8, 3,6 ® 6, 8,3

~&B ~

a’>+8a+A=(a+4)?=a®>+8a+16, A=16
¥ +Bx+9=(x+C)?=x+2Cx+ C?
C?=9,C=4+3,B=2C, B==6
LA=16, B=6, C=3 (=B, C= %)




